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Il Semester B.Com. Examination, May/June 2014
(Semester Scheme) (2012 - 13 & Onwards)
COMMERCE (Fresh+Repeaters)

Paper — 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3Hours Max. Marks :100

Instruction : Answers should be written completely either in Englishor
in Kannada.

SECTION-A

Answerany ten sub-questions. Each carries two marks. (10x2=20)

1. a) Whatis an inclusive series ? Give an example.
b) Mention any four functions of Statistics.
c) Define the term mode.
d) State any four requisites of good average.
e) What is standard deviation ?
f) What is Base Year ?
g) Give the meaning of Factor Reversal test.
h) What is an Index Number ?
i) Why index numbers are called Economic Barometers.
j) What is qualitative classification.
k) Mention the parts of table.

) State any two merits and any two demerits of standard deviation.
P.T.O.
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SECTION-B

Answerany four questions. Each carries eight marks. (4x8=32)

2. Find mean deviation from mean from the following ;

Income (%) 500 1000 | 1500 | 2000 | 2500
(Less than)
No. of 20 35 50 80 100
Persons

3. The following data relate to monthly expenditure of two families A and B.

ltems Family A Family B
Expenditure (¥) | Expenditure
Food 160 100
Clothing 80 30
Rent 60 40
Fuel 20 10
Others 80 20

Represent the data by a suitable percentage diagram.

4. Rainfall for a month as recorded in an observation is as follows :

Days Sun. | Mon. | Tue. | Wed. | Thur. | Fri. | Sat.

Rainfall in
mm

87 63 74 56 62 85 73

If there are 5 Mondays, Tuesdays and Wednesdays, 4 Sundays, Thursdays,
Fridays and Saturdays calculate the daily average monthly rainfall during the
month.
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5. Calculate Median from the following series.

Class 1o 4| 5_9 |10-14|15-19|20-24| 25 -29 |30 -34 | 35 - 39
Interval
Frequency | 05 13 23 35 26 18 15 08

6. Construct the consumer price index number for 2007 on the basis of 2002, from
the following data using family Budget Method.

; Price

Commots | oo ez [z | 500
A 12 50 60
B 8 40 45
C 4 70 80
D 9 70 90
E 5 20 40
F 2 200 200

SECTION-C
Answerany three questions. Each carries 16 marks. (3x16=48)

7. Convert the following distribution into more than cumulative frequency and less
than cumulative frequency and find the median graphically. And also verify the

result of actual calculation.

Wages(¥) | 0-20| 20 —-40 | 40 —60 | 60 —80 | 80 — 100

No. of Workers 82 112 150 95 48
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8. Calculate Karl Pearson’s co-efficient of skewness for the following frequency
distribution of profits earned by 100 partnership firms during the year 2013.

9. With the help of following data, calculate Fisher's Ideal Index Number and prove

Profits (in ¥ '000') | No. of Partnership Firms ]
More than 10 100 |

L 20 97

* 80 90

¢ 40 70

. 50 40

" 60 25

X 70 15

" 80 08

h 90 03

that it satisfies both Time Reversal Test and Factor Reversal Test.

Base Year Current Year
Commodities | price per Total Price per Total
Unit Expenditure Unit Expenditure |
1 2 40 5 75
2 4 16 8 40
3 1 10 2 24
4 5 25 10 60
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10. An analysis of monthly wages paid to workers in the firms A and B belonging to
the same industry gives the following results.

Firm A FirmB
No. of Workers 500 600
Average monthly wages () 480 475
Variance of distribution of wages (%) 400 625

a) Which firm pays a larger wage bill.
b) In which firm is there greater variability in individual wages.
c¢) Find out the combined Average Wages of the two firms taken together.

5@53 hphplecie)
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CIRTTITT B3 YVT @ non eugoR. T a; 7} BT 908N, (10x2=20)

1. a) wened)z A3e3 (Inclusive Series) omBeRd? OB BRR.
b) RoaiZoR L3 CIRYTIITWTER FOLY, TDOF NER) SR
C) RRTO ATIAD 0TTEI0 ?
d) U8 RTIROOD QRION) o saﬁ%ﬁﬁgt EPD.
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h) =8 Boad, ordesd ?
i) AR BodNed SRFE RPN 3F 2

j) TOFZE WNF EBTD DOTTERD 7
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(4x8=32)

2. B3 PN 3008803 ATHRD z%&da&éo:b&q@oérfséé RTIROCT HUPVT O SBCV.

GwRed (32) | 500 | 1000 | 1500 | 2000 | 2500
(81538K)
3¢ Bos, 20 35 50 80 100

3. 83 FINT B&3030 A 53039 B 22020 T 8383002018 Sone? 8023 7 RORIOTTETIBT,

aﬁﬁjﬁeéo A B0800WT DLE
3500 160
&3 80
ed
BN 60
QOB 20
933 80

a’ne@ddﬁg{ RRTIHIT BB xﬁgﬁae?q 30001

4. 2,00 SoTERY. Ro¥ad Fwes SNF0s8S

(ATTaLee)
IADINOND®)
RRETITT
ROONYT
LOTT
aSlePTADIo]
208500
T30

Sogod FRes

87
63
74
56
62
85
73

B 303002088 adedos

100
30
40
10
20

R0edT $onPTY 5 Xpeasdees, SOonens HaNnR LITEtNT 303) 4 PRI,
MOTOET, BT ToNe BIITRVES Sone e380%0 FToRO B £33, BOTE0 SBO0.
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5. B339NIR000D dac%ﬁaddz{éocé& 280000,
Snie 0-4| 5-9 |10-14|15-19|20_24| 25_29 | 30 34| 35_39
@533 Foad 05 13 23 35 26 18 08

6. 2007 T 2= zirazsaéoédd@{ 2002 T ©To08 506, Bok1OL L0 APIITE,

FOTRIEEBOD.
SESIES 2002 59 SRy 58]
WFTOD 3999 2002 2007
& 12 50 60
w 8 40 45
A 4 70 80
® 9 70 90
Q 5 20 40
OF° 2 200 200
IR — 2

BINT CORYTRTTR AT TNV 2008, F& BIrI16 wosnh.

(3x16=48)

7. BINTTIY, BRTTRT TN T T S5 305RN LIBLROR, TOFFRI), Seavorsg s
TUROF FOR) RO TR ST, TOCER.

$ommS Hoas

0-20

20-40

40-60

60-80

80-100

300 (35.)

82

112

150

95

48
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8. B3 FPNT D&SCI0T, TP & LOIDT RN TRT r’omég =8, ?,éeﬁcmzd;% BOTRD BoGOOD.

zzw mg;f)m Rodne Rosd
10 408 cied, 100
20 7 97
30 9
40 » 70
50 ” 40
60 25
70 » 15
80 » 08
90 » 03

9. B3 SN FRL300T, GROTTHT TBF RorR, 03I, FomKAR & TRT R
FRT ¥, 34,03030 2o BEIam.

590 BRE BRI IR
a:?:gﬁe#o PR - —— =
BESNISUWS | dedor | BITRAT S | Wi Dedr
1 2 40 75
2 4 16 8 40
3 1 10 2 24
4 5 25 10 60
10. A 583 B RoRnvd, done B3RO0 Brdod 33 FSNT03TIZC,
303 D03 B
@ @
E2airleiepletl 500 600
Fo0%0 8ons 3n® (3. 480 475
B3RO BoLIFOD ?fbﬁé on. ) 400 625

a) 035 FoR, 532,3’3 O QeI 9

b) CIRRR oﬂojoef) 3p0 BorFonde, B, TR ?
C) 0@ NONwo 20633, ROORO m@osm‘-%om 250000,




